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(i) Give the IUPAC nomenclature of Total number of printed pages-12
the following : S

woTe fal (20 ITUPAC IS T4 8
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)L Full Marks : 60
Co(NH,, - Cn, - Cn, - NH,).| (S0,)
(d) | olttz, ~Cna - Cn, - Ng) | (S0), Time : Three hours

() [nicy, (PPhy),| | The figures in the margin indicate
. Jull marks for the questions.
() Write short notes on: 3+3+4=10 i :
53 Ol fora ¢ “ Answer either in English or in Assamese.
6. Graplit 1. Answer the following as directed: 1x7=7
i raphite
(ARG ‘ Aot PR wete fraenRs Bes fod ¢
(i) Fullerenes (@) Which of the following elements has
A the highest electronegativity value ?
(iii) Partially crystalline carbon woTe Al GNEPTEd (AR Ryedsiy T
S "R OROLT CAfR?
O, N, C, F, Ne
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(b)

(c)

(@)

What are transition elements? Give

one example.

Fe@FepTIe e W % gt 2 @Bt Tmreaet fet |

Oxide of . is used as catalyst for
manufacturing H,SO,.

(Fill in the blank)

T SR3es H,SO, TeAR IR

SEEGS BoIel I/ I =
(N7} HZ 979 )

Choose the correct option :
wg Te0o! difR Tlereat ¢

A real gas most closely approaches the
behaviour of a perfect gas under the
condition of

@51 (ol Sl (TR W W6 FRT RoIE

() high P and low T
T biot o R Taeel
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(e)
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(i) low P and high T

R 57l S TH S

(iii) low P and low T

GERIL A S RCERZ )

(iv) high P and high T
T BI WS TH TS

What is the S.I unit of surface

tension ?

SO S.I ¢33 e

What is the number of atoms on fec

unit cell ?

foc GFT (1T GBS ] AT T {0
foralt |
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9)

Draw a plot of concentration versus

time for the reactants and products of

a 18t order reaction.

NS TS 15t S [ferm «oir [fess s
Teslfre w9 SNve! T e = SR IR

el |

Answer all question : 2x4=8

Wﬁﬂﬁ?{@@mm

(@)

(b)

Ionization energy of silicon is less than

that of germanium. Explain.

e ST Wi iAo 9|
JRY 4 |

Why compounds of transition element
show colour? Write the electronic

configuration of Cu and Cr.

AT (e (ISl 59 399 @ e
AR S FNTN EARGA T e forail |
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() What is physical significance of a and

b in van der Waals equation ?

SleIRAE. FNFIBR a W b I (OIfST
wies fa|

(d) Show that the half life period of a
first order reaction is independent of
the initial concentration of the

reactant.

oriedl (¥ e T R GBI TG DI
T SIve eoTs 6 T |

3. Answer any three of the following:

5x3=15
wore frarEa et fofb Te fort ¢

(a) What is diagonal relationship ? What
is the basis of diagonal relationship ?
Discuss this between aluminium and

beryllium. 1+2+2=5

+f 7s @ 2 o ovea fofe & ¢ weffaam
iR @RfFEE ¢ TEEd RI D 4|
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(b) Explain the inert pair effect in Pb, Sn 4. Answer any three of the followin%(:)xs_so
and Tl Why is Sb*S better oxidant
than As5*. 3+2=5 weTe AP [t fofAbg Tet 41 ¢
Pb, Sn=i% TI'® ffga 30 fern yram <11 (a—f Towe Rt oo
+5 5+
Sb*S % AsS* @R o wiee [Fue o | (@ () Write notes on: 2V, +2Y5=5

(c) Explain Jahn-Teller effect.
G (BEIRS ARIGAICO! il 41 |

(d) Calculate the CFSE of [Ni(H,0),]**.

o3 (ot ot e
(A) Allotropy of phosphorus

Why is CFSE of tetrahedral RTINSOl

complexes less than that of : !
octahedral complexes ? 3+2=5 (B) Low spin and high spin
[Ni(H,0), |3 CFSER 3 Sfeeat complexes

TEFER (T TeIS SRFAS A 1IN R o T gl

CFSE {1 3w¢

(i) (A) What do you understand by

(e) State Maxwell’s law of distribution of
molecular speeds amongst the the term A, or 10D,?
molecules. Explain from this the Xy
effect of temperature on distribution 2
of speeds. Give the expression for A, q 10D, T & qEne
most probable speed of gas
molocules. 2+2+1=5 (B) Write down the factors on
CRIEER SRS sifewaas [esd Rigwet o which A, value depends.

2%

3 Rt gFe WA aifex Koy eo@
Aoﬂﬂf%ﬁsw\fsmﬁté‘é

TR ASIk IR F | (IR WIF S FBIG ,
SISTReI eRMRIFIE! forail | : wA
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Explain how viscosity of liquid
depends on temperature.
Describe Ostwald viscometer
method for the measurement of
viscosity of a liquid. )

R ST FErel TwOR @S R
RSN = A 4

woaree forsfitR 7y IR owW
el R ey R SN 390 30

Write two differences between
order and molecularity of a
reaction. For the reaction

2A+ B, —» 2AB, it is found that

doubling the initial
concentration of both the
reactants, increases the initial
rate by a factor of light, but on
doubling the concentration of B,
alone, the rate is doubled. What
is the order of the reaction with
respect to A and B,? S
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REFTR @Y WiE SREeR TES 1ol
1<y fera |

2A + B, - 2AB &% RFWOR (FI©

mﬁ@ﬂ?ﬁﬁﬁﬁﬁsm@qqﬁa
R RiRFAR sifewe =it od 3fa =,
& (@@ B, 3 vl god I IR
R Afere qed @ 1A W%
B, 3 itaics RfEFR @ e 1

Derive Bragg’s equation,

nd =2dsing. What is the
physical significance of n in this
equation ? 4+1=5

@R TN i = 2d sind (B THAATH

1 | @3 AT n T (ST Tl
e

A first order reaction is completed
20% in 5 minutes.

Calculate the following:
2+2+1=5

@5t ol T RRFE 20% T4 20
Wamsﬁﬁ%laf%mwﬁm
e e 10 ¢ ‘
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